IMPORTANT: PLEASE KEEP THIS INSTRUCTION MANUAL FOR FUTURE REFERENCE !

Copyright © 2011 by E&G Classics, Inc. All right reserved. The reproduction or utilization of this work in any form or any electronic, mechanical, or other means, no known or hereafter invented,
including xerography, photocopying, and recording, and in any information storage retrieval system is forbidden without written permission of owners.

2007-12 Chevrolet Silverado E-Power Mesh Grille

2-Piece Upper Overlay
Black Mesh Part #: 1022-0104-07EP / Chrome Mesh Part #1022-0104-07EPC

Automotive grade masking tape, electric drill, 5/16” drill bit, flat blade screwdriver, 9mm socket and ratchet,
TOOLS REQUIRED glass cleaner and soft, clean cloths.

L30H1P

Notes to the Technician/Installer:
E&G is proud to present this package to you and reminds you that for technical information, contact technical assistance at 410-381-4900. Do not attempt the installation
of any E&G product without first reading the detailed instructions. E&G Classics will not warrant damaged parts or the vehicle due to altered installation instructions.

1. Open the hood and use a flat blade screwdriver to remove the
factory push pins securing the radiator support panel and re
move the panel (not shown).

2. Apply masking tape to the chromed openings of the factory
grilles as shown only if the factory grille center sections are
chrome or silver. Apply flat black paint to the factory center sec-
tions to help conceal the factory grille once the E&G mesh grille
has been installed. Once the paint is dry, remove the tape.

3. Install 3" sections of the supplied double faced tape to the back
of the mesh surrounds as shown and align the mesh sections
into place. Press firmly to set the tape. This will keep the mesh
aligned until you install and tighten the grille sections into place.

4. Trim the supplied #8 x 1-1/4" black plastic caps and install them
onto the lower studs on the upper upper and lower upper mesh
surrounds. Trim the pre-installed #8 x 3/4" black plastic caps to
1/4” long and install them onto all upper mounting studs.

5. Align the lower upper grille assembly into place, making sure
the studs pass through the openings in the factory grille.

6. Carefully align the supplied U-shaped mesh retainers to all
mounting studs and install the supplied #8-32 ESNA half nuts
onto the studs and tighten until the grille is snug. Do not over
tighten or you will indent the grille at the stud locations.

< ADE
.AM»EMCA Copyright 2011 by E&G Classics, Inc.

EXPERT QUALITY CRAFTSHANSHII

Visit us online today at www.egclassics.com



7. Prior to upper upper mesh grille alignment, use a 5/16” drill bit to 8. Install the upper upper grille using the same procedure as the lower
enlarge the existing opening in the factory grille where shown. upper grille.

9. Reinstall the radiator support panel cover once all mounting hard- 10. Finished installation.
ware has been tightened and close the hood. Clean grille to remove
fingerprints, grease, etc.

Black Mesh Part #1022-0104-07EP Chrome Mesh Part #1022-0104-07EPC

Quantity: | Description: Part Number: Quantity: | Description: Part Number:
1 Upper Upper Mesh Surround 1022-0038-07B 1 Upper Upper Mesh Surround 1022-0038-07B
1 Lower Upper Mesh Surround 1022-0039-07B 1 Lower Upper Mesh Surround 1022-0039-07B
2 Upper Upper Mesh Sections 1022-0540-07B 2 Upper Upper Mesh Sections 1022-0540-07

1 Lower Upper Mesh Section 1022-0541-07B 1 Lower Upper Mesh Section 1022-0541-07
42 12 Point Plated Studs - Plastic 1999-0715-00 42 12 Point Plated Studs - Plastic 1999-0715-00

1 Installation Hardware Kit 1022-1902-07EP 1 Installation Hardware Kit 1022-1902-07EP
8 .045" x .250" Double Faced Tape 3004-9250-92 g .045" x 250" Double Faced Tape 3004-9250-92
18 U-Shaped Mesh Retainers 1999-0719-00 18 U-Shaped Mesh Retainers 1999-0719-00
18 #8-32 ESNA Half Nuts 1999-0065-00 18 #8-32 ESNA Half Nuts 1999-0065-00

6 #8 x 1-1/4” Black Cap Plugs 1999-0311-00 6 #8 x 1-1/4” Black Cap Plugs 1999-0311-00

Copyright 2011 by E&G Classics, Inc. Visit us online today at www.egclassics.com



MADE IN

E&G Classics Warranty Information:

E&G Classics, Inc. warrants its chrome parts and products to be free from defects in ma-
terial, workmanship or finish for Thirty-Six (36) months from the date of shipment by E&G.
This warranty is limited to the repair or replacement, at E&G Classics option, of the defec-
tive part or product.Full E&G Classics warranty information is available online @
www.egclassics.com. Just click on the product warranty icon.

For E&G Classic Product Returns:

Please contact the authorized E&G Classics Dealer where you purchased our prod-
uct from in regards to any workmanship or warranty claims. All items returned to
E&G Classics must have a return authorization number issued by us for inspection
or a defective product and or warranty issue. All merchandise sent back to E&G
Classics without proper paperwork or authorization will be rejected and returned.




